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Scientific Notation/Significant Digits Worksheet 1
1.  Determine the number of significant figures in each of the following:

a) 
[image: image1.wmf]3427


   4
b) 
[image: image2.wmf]0.00456
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c) 
[image: image3.wmf]123,453
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d) 
[image: image4.wmf]172
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e) 
[image: image5.wmf]0.000984
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f) 
[image: image6.wmf]0.502
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g) 
[image: image7.wmf]2

3100.010

´


5
h) 
[image: image8.wmf]4

0.011410

´


3
i) 
[image: image9.wmf]107.2



4
j) 
[image: image10.wmf]0.0000455


3
k) 
[image: image11.wmf]2205.2



5
l) 
[image: image12.wmf]2

30.010

-

´


3

m) 
[image: image13.wmf]3

0.98210

-

´


3
n) 
[image: image14.wmf]0.0473



3
o) 
[image: image15.wmf]650,502



6
p) 
[image: image16.wmf]1

3.0310

-

´


3
q)
[image: image17.wmf]5

20.410

´



3
r) 
[image: image18.wmf]3

100010

-

´


4

2.  Convert each into decimal form.

a) 
[image: image19.wmf]4

1.5610

´



15,600
b) 
[image: image20.wmf]2

0.5610

-

´


0.0056
c) 
[image: image21.wmf]2

3.6910

-

´


0.0369
d) 
[image: image22.wmf]5

736.910

´


73,690,000
e) 
[image: image23.wmf]5

0.0025910

´



259
f) 
[image: image24.wmf]2

13.6910

-

´



0.1369
g) 
[image: image25.wmf]4

6.910

´




69,000

3.  Calculate the following.  Give the answer in correct scientific notation.

a) 
[image: image26.wmf]2

6

3.9510

1.510

´

´



[image: image27.wmf]4

2.610

-

=´


b) 
[image: image28.wmf]7

5

4.4410

2.2510

´

´



[image: image29.wmf]2

1.9710

=´


c) 
[image: image30.wmf]26

56

1.0510

4.210

-

´

´



[image: image31.wmf]83

2.510

-

=´


d) 
[image: image32.wmf]23

56

6.02210

3.01110

-

´

´



[image: image33.wmf]79

2.00010

=´


e) 
[image: image34.wmf]210

(3.510)(6.4510)

´´



[image: image35.wmf]13

2.210

=´


f) 
[image: image36.wmf]1212

(4.5010)(3.6710)

--

´´



[image: image37.wmf]23

1.6510

-

=´


g) 
[image: image38.wmf]94

(2.510)(6.4510)

´´



[image: image39.wmf]14

1.610

-

=´


h) 
[image: image40.wmf]210

(6.8810)(3.4510)

-

´´



[image: image41.wmf]7

2.3710

-

=´


4.  Round each of the following to 3 significant figures.
a) 
[image: image42.wmf]77.0653





[image: image43.wmf]77.1


b) 
[image: image44.wmf]6,300,278.2




[image: image45.wmf]6,300,000


c) 
[image: image46.wmf]0.00023350




[image: image47.wmf]0.000234


d) 
[image: image48.wmf]10.2030





[image: image49.wmf]10.2


e) 
[image: image50.wmf]21

2.89510

´




[image: image51.wmf]21

2.9010

´


5.  Calculate the answer, use the correct number of significant figures.

a) 
[image: image52.wmf](0.32)(14.50)(120)

=



[image: image53.wmf]2

5.610

´


b) 
[image: image54.wmf](24.1)/(0.005)

=




[image: image55.wmf]3

510

´


c) 
[image: image56.wmf](3.9)(6.05)(420)

=



[image: image57.wmf]3

9.910

´


d) 
[image: image58.wmf](14.1)/5

=
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